it
H

~ The transition capacitance increases with
a) decrease of reverse bias voltage

p) increase of reverse saturation current
c) decrease of reverse saturation current

d) increase of forward bias voltage

EpQA® by e RBE® BLHE0D

a) HEPH5,De0s BHODDHYE b) &m0 HouR Hararo HONHDBYE
) o ol Hariro ShowBm d) PO BOWBHE

[na transistor symbol, slant line to bar without any arrow head
represents

a) emitter b) base

¢) collector d) flow of conventional current

QB H0BB0SS ere) (HRBD Hloared P (Bs) B0 HROHgos.

a) o20bb (SepbsHm) b) 8% (sge5o)

) 885 Goss) d) Mrogmas BrySETo
3. Which region of a transistor is lightly doped?

a) collector b) base

c) emitter d) All regions are equally doped

EPRHEET0 & Ppodio Heowe BRHSGE0 Band Pokood

a) 8855 (LEod) b) &% (egriso)

C) dE0bb (HERES0)

d) eg pomen HESHBP EPHEGHO BoeBHHobood.

. An emitter follower has high input impedence because
a) large emitter resistance is used

b) large load resistance may be used

¢) there is negative feedback in the base-emitter circuit
d) large biasing resistance is used

13A
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we sttt g ouiput circuit
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1) mond moainild honofodtiom da e,Hd 5308050 HROoR
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41 ad Beene nlddd, 985 fociees ARRoE

conhfiguration nas low thermal stability
5y CB 2} OB c) CC d) CC & CE
on SRR DI e bt 5900
G CEess  b)CBegs ¢)CCege d)CCSooin CEe
Which of the foliowing 1s the main advantage of an emitter-follo
ay Maximum distertion b) Maximum efficiency
¢) Haiarin“m't i d) Maximuem sutput impedanl
SRl Sadtiore S Lo dadd | |
1) DOE e b) sog ors
£ UHEY sReC T d}ﬁ&% Gulston EREPHO
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61.

62.

(L & A e Y '

s = mhE ] -
L T - T8 NS R, :.th;uﬂ.‘

a) @isoso b) 1/2 ¢) Amo d} 1

[he power rating of a BIT is determined by which ef the foilowing

a) cotlector hase arean b base width

O3 heal Sk o }esrurter base junction aso
D56 BREO NR6E° 65 Bl 200 cedst 85, Brath

a) 866 50 dme o b ) 8% sooso (D)

¢) &0i5008 d) om0b8-8% o Dwe,o

Johnson noise in an ammplifier is the aoise produced due to
a) lighting

b} the fucl that the currept is carried by discrete particles

c) the tact that electrons in a resistor carry slightly different amounis

of energy

d) switching oft or on of an electrical apparatus

SEBLS* aafiv oD HINDe DEIEE0O

a) ol ) DEEeran Dyt S:50600 8505

¢) DFHoE%0 wegztow Sl Hgeosite S50 Bnen D500 Ly
d) 3.5 o dow &5 e SadHvo S

An amplifier has a voltage pain of 50; this gain in dB will be

a) 68 di by 34 dB ¢) 31 dB d) 17 dB

et 352K E:é:_?.e! eRERaln &Y i reaendo Bhaads 4B

a)o6s dB | hy i - ci31 dB dy 17 dB

A negative feedback 10 ainpiiliess causes which of the follow: -

a) Bandwidth redu.os " Harmonic distortion 1ed:

¢) Noise increases 4 Increases the output impecance



63.

65.

66.

- - S (veteedh, @W%M

a) 54 Dedey, Bc}E0D D) xn,08 BapG® ScpEood

C) R DENDEOD d) BgaD wexFu aiieD
Which of the following circuits can be taken as an example of currej
Shunt feedback amplifier?

a) emitter follower

b) CE amplifier with collector-to-base bias circuit

c) CE amplifier without the emitter bypass capacitor

d) voltage follower

EomHE’ 00 B0otSHots HEDE aclipbe mpietnrr BosfHel

a) ofobd Fp&aiob b) 5886 - 8% 0asrbS® BrbH CE eolps
¢) 050k8 BIeH BRotS 30 CE solipd d) 686 &and

Current gain with negative feedback in an amplifier

a) decreases  b) increases ¢) remains the same  d) >1
E.‘igmaoa‘ exoe iS5 BH0 5 8005 ergroso

a) w00  b)ntwmon  ¢)snsous d) >1

An oscillator produces oscillations due to

a) positive feedback b) negative feedback

¢) partly positive and partly negative

d) neigther positive nor negative

800 oS’ HB GFoBos’ Gomern 5DBMOD

a) 555 ogBdo (+ve feed back)  b) ewor D030 (- ve feed bad
C) &xfgorm 55, woe PooSwes )5, wwe HooBSwen HOCHID
Which of the following oscillators has best frequency stability
a)multivibrator b) crystal ¢) phase-shift circuit ~ d) colpilf

gpmﬂm&mmmmqgwm
a) Sofises  b)gsso C) 54 - DS Soovo  d) el

16A



67.

68.

09.

70.

... oscillator 1s themost stable oscillator

a}crvstal controlled b} Wemnbridge
c) Colpitts d) Hartley

Boo aEE DO eps %}Cﬁ%ﬂ e GFeoso

a) HBS oD GFeso b) 3%5-2§ &foso
c) pdbis Foso d) 5856 SFeso

An oscillator can stop oscillating under which of the following conditions?
a) elimination of triggered pulses

b) reduction in transistor gain

¢) increase in transistor gain

d) reduction of input vc;ltage

8015 BOBO BRBS Gioto Fomen SasBom SHEOD

a) 856 Hdro DB WatotoBdey

b) &rqb DS a0 B¢

C) LPRIPEDS BEBEO B8 d) 255 &g o Sg

Which of the following oscillators uses a capacitive voltage divider to
provide feedback?

a) Colpitts b) Armstrong  c¢) Hartley d) Multivibrator

£t Fored® HO BHHBS Lfe BB PedS HErES SHDROBo
=V el vvelal

a) 554§ b) e5,8006 c) &6 d) Sofpges
A Hartley oscillator circuit uses
a) a tapped inductor for inductive feedback

b) capacitive feedback

¢) a tapped inductor d) a tapped capacitor
36 sRB0b oo oD ADDPHOTHEOLIOD

a) @ou8S & en56° erbE 20386

b) 8BS Hsens

C) eRBE motsSs d) e»HE B2eteb

17 A
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(] -l,.r
k. = e,
% ™ .'.:,.' -
iy 150 h =500 v} HFO0 i
e neak value of 4 site voove 35 200V s an, > 1yl
ali274V JREY ' c) 28 ¢ 1300V
Bd 00 SO B0 S ~ 00y L &t A
11274V b) 1414V ¢)282.8 V d) 200V

AR AL, voltage of 56 Hz has o maximuim value of S0V, lis vaiue ai.
1600 second afier the instant the current is zero. will be

a3V b) 125V )5V d)43.3V

50 Hz, A.C. &8 505 Bas S0V.1/600 2t sons Sge 86535 D
ARG0 eond S Deod won

a5V M12sv c)25V d)43.3 V

The rm.s. value oi sinsoidal A.C. current js equal to its value at fj
angle of ............... degrees

2190 b) 60 ¢)45 d) 30
&8 S A.C. 96538 rm.s. DeoS & S8 Hx000 ©HE108
2390 b) 60 c) 45 d) 30

m @ series resonant circuit, the impedance of the circuit is

) sinimum b) maximum ¢) zero d) infinite
=4 moarsl) Secbodtn esse

-n..-'::l.-_.- E:};". ] 1:} "T."_f-..T-‘-L_ L ﬂt!#l“‘q"\lﬁf}

18A



18,

ﬂ‘méﬂ-:‘:?.l.- AMNIENEW e N ’:’miﬁ. N Ty T R it Rl .-:"
- mu:-.

11_'.,.'-!‘:3r_‘:.l--

a) KW b kYA BT AVEA T
e Ry oo o RN I

1} Sparant poi gual 1o the actual pow

b} reactive powsr is more than the appareni povwer
¢jreactive power is mwre than the actual power

d) ;'.r:mnl'pmu 21 1s more than its reactive power

08 9 GHodD Seabod

2) chPRREOE.0 DBROE BewHO

b) HBRE B0 GBREIRDED SHSO

¢ BBiimE Modo Despiowy LET epBo
d}m:-.mﬁ:g LT MR 573 ®PHBO

The time constant of the r:apafi:ance circuit is defined as the time
during which voltage |

a) falls to 36.8% ¢1'its final steady value

b) rises to 38.6% of i1s final steady value

c)rises to 63.2% o¢ s final steadv value

d) falls to 63.2% o1 its final steady value

Eodo Seand 2o Rosomn o0 DO DO
a) 800 DOBE Hife DevDHS’ 36.8% L8 D=0

D) o0 DeBs Efe e’ 38.6% HD8 Do

C) B0 DD &HFs Deode® 63.0% &8 Hejme ¢

ks
v

) soey DoBE HEfs Devdd? 63.2% &iiens (Anis) HEfsen



19.

30.

81.

82.

In a loss-free R-L-C circuit the transient current is
a) oscillating D) syuame wave clsinuseidal  d)ynon-oscillatigl
BB Hyap R-L-C Secios’ e, 05 nayis

a) Glomei,BorP SotooD b) sssxtigeert sonor Hokoog

C) & Boolior® Hokood d) Geomes S0 200 SSorRP Hoky

Power factor of electric bulb is

a) zero b) lagging ¢) leading d) unity
&8 By RHo ARy, tomso
a) g0 b) Sosedsotbec) Swothabo  d) Herclo

The input of an A.C. Circuit having power factor of 0.8 lagging 1s-
KVA. The power drawn by the circuit is

a) 12 kW b) 22 kW c¢) 32 kW d) 64 kW
nammmmh.ﬂ.mgmﬁm KVA a8 oo, Sea,
Broad DO

a) 12 kW b) 22 kW ¢)32 kW d) 64 kW

Which of the following expression is true for apparent power in
A.C. circuit?

a) VIcosg b))V x I
c)V_ . x1I_. DV X L,
A.C. Souss) Gyedtomf, $mood Hogun HEsseo
a) VIicosd bV, x 1,

-1 RS O DV %L,



83.

gs.

Thevenin's equivalent (E__, R ) for the circuit show in fig. will be

2)20V,56 0 b)18V,4qQ ¢)16V.3q dI12V,20

D BocsPOE Bowopow BOOS Heg, &Fe (E,) 3008 se, 080 (R,)
D08

a)20V,56 ¢ b)I18V, 40 c)l6V,3q dI2V,2

In a delta network each element has value R. The value of each
element in equivalent star network will be

a) R/6 b) R/4 ¢) R/2 d) R/3

&8 Aep BSE, Beoaos® Hesiroto Hend R 8 Sumto g, 556,
Secos’ Sedureto Heod

a) R/6 b) R/4 c) R/2 d) R/3

Kirchoffs voltage law applies to circuits with
a) non-linear elements only b) linear elements only
¢) linear, non - linear, active and passive elements

d) linear, nonlinear, active, passive, time varying as well as Time-
in-variant elements

8oy & mODEDO

2) edan Horomen tio HoaERDB 50O

b) Bty omements tio Sodsrnd SO0

¢) Beha, eefan, 8BS Broasn 1S Horeorerso HoaSROE HOROD
d) Sefosn, oBPoso, €8S, HHS Peod® H»T Hocy Pood SEEN
SuRpesRaio Sociand BeRoa.
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o’ | 5
o |
k8
-l". ‘_Er-'"“-' -
4
-'-i [
Tud
W
3 10 O b} 20 q."_}' ' IR dy<du O
‘5.‘_ Homece® LM Eﬁ:“'ii_q. DEFSC 15500 e, 1 T O Ao a0
a) 10 O b) 20 O c) 3O NELES

The superposition theorem is applicable to

a) linear. non-linear and time variant responses
0} linear. and non-linear resistors only

¢) linear responses only

d) for any circuit

oRFHS HERoBo Bod BB SHBOBBAND R
a) B, eBfadh Srodin Bood? Hnd edlabe
b) Shos Sioain edgiab ot HPEih

¢) Sehaid entoBaidets Singao

d) & Secsrosoe Hgosdaey

Milliman's theorem yields

a)equivalent resistance

b) equivalent impedance

c) equivalent voltage source

d) equivalent current or voltage sourcs
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e goEiR® HEROBO
) 80gO0PPRR OO
b) 00, SSFRRY, ARDT0D
0) B0, EPS BOSY BRDTOD
d) dog, & Eo» Bog, DEYS E5SY BrDROD
§ Forthe circuit shown in fig. the current through R, will be

By=10 e
AN
o= Lo R, = oo -::1-

i =
a)2.5A b)3.5A c)45A d)55A
» SPOoNH Hoaos® R, mme H830) DEggamER0
a)2.5A b)3J A c)4.5A d)5.5A

h]. In the circuit shown below the current in the 10 @ is i(t) = 12 sinwt,
The current in the 30 ) resistance will be

oS
2 S 1
o S
Ju S
a) 36 sinat b) 18 sinwt ¢) 9 sinwt d) 4 sinmt

P Spoowd Heanos® 10 Qe aFF0 o 255 amyEmo i(f) =12
sinwt, 30 (e oryoe DD BEYHPERO OB
a) 36 sinot b) 18 sinmt c) 9 sinwot d) 4 sinmt

A



